
RT OFF-ROADRT OFF-ROADRT OFF-ROAD  
  

JK Trailer Hitch Installation Instructions 
Replaces Part Number: 52060290K 

 
Kit Contents:  
1 – Trailer Hitch 
4 – 7/16 - 20 x 4.5” Bolts 
4 – 7/16 Lock Washers 

 
1. Ensure that all components in kit are accounted for. 
2. If the vehicle has a tow hook, it must be removed. 
3. Clean the cross member and all holes in it to ensure a tight fit and to prevent 

rust. 
4. Raise hitch into position and loosely install all 4 fasteners.  Once all 4 fasteners 

have been started and the hitch is straight, torque the fasteners to 70 Ft. Lbs. 

Do Not Exceed Lower of Towing 
Vehicle Manufacturer's Rating or 

Hitch Type 
Max Gross 
Trailer WT 

(LB) 

Max 
Tongue 
WT (LB) 

 
Weight 

Carrying 
Ball Mount 

  
3500 (1589 

Kg) 
350 (159 

Kg) 5. Install trailer wiring and secure away from hot or moving objects. 
6. Re-torque all hardware after 500 miles. 

 
While every attempt is made to ensure that the information contained in these instructions is correct, no liability can be accepted by the authors for loss, damage, or injury 
caused by any errors in, or omissions from the information given. All service should be performed by qualified mechanics. Crown Automotive Sales Co .,Inc. cannot be held 

responsible for any mechanical work performed. Standard and accepted safety precautions should be used in every procedure. 
 

 
 
 
 

RT OFF-ROADRT OFF-ROADRT OFF-ROAD  
  

JK Trailer Hitch Installation Instructions 
Replaces Part Number: 52060290K 

 
Kit Contents:  
1 – Trailer Hitch 
4 – 7/16 - 20 x 4.5” Bolts 
4 – 7/16 Lock Washers 

 
7. Ensure that all components in kit are accounted for. 
8. If the vehicle has a tow hook, it must be removed. 
9. Clean the cross member and all holes in it to ensure a tight fit and to prevent 

rust. 
10. Raise hitch into position and loosely install all 4 fasteners.  Once all 4 fasteners 

have been started and the hitch is straight, torque the fasteners to 70 Ft. Lbs. 

Do Not Exceed Lower of Towing 
Vehicle Manufacturer's Rating or 

Hitch Type 
Max Gross 
Trailer WT 

(LB) 

Max 
Tongue 
WT (LB) 

 
Weight 

Carrying 
Ball Mount 

  
3500 (1589 

Kg) 
350 (159 

Kg) 11. Install trailer wiring and secure away from hot or moving objects. 
12. Re-torque all hardware after 500 miles. 

 
While every attempt is made to ensure that the information contained in these instructions is correct, no liability can be accepted by the authors for loss, damage, or injury 
caused by any errors in, or omissions from the information given. All service should be performed by qualified mechanics. Crown Automotive Sales Co .,Inc. cannot be held 

responsible for any mechanical work performed. Standard and accepted safety precautions should be used in every procedure. 


